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1. Answer any ten from the following questions- I1x10=10
e fACPICT! w=B! 2ivia Ga fra |

(a) What types of polarity produced in the glass rod and silk cloth when
they are rubbed with each other?.
2 1S B HFI FICoA =711 94 S0 2412 =1 s @
AP (NFFI4 27 ?

- (b) Is current a scalar or vector quantity?

o 2RIZ (F1 @ coga qife

(c) Write down the De Broglies's wave equation?
% g wazal FTeaeIeH! fevain |

(d) What is flux?
T I oo 52

(€) What do you mean by Dual nature of matter?
“iefs 7o =S et 5 3@

(f) What is quantisation of charges?
SIS (PRIGP 52

(g) Write down the expression for Lorentz Force.
T 99 AP M o |

(h) What is modulation?
T Al ACeTod 2

(1) What is the S.I. unit of resistance?
[T S.L @33 52

(J) In a communication system, what do youmean by 'Signal'?
AT JFre HFo” Jferest 9f 76 et 2

(k) What is the dimension of magnetic flux?
RES I SSR1ZS @l foral |

(1) Whatis Radioactivity?
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2. Answer any twelve from the following questions : 2
weid R 6! ered Baa |
() Find the relation between drift velocity and electric current.
oA (35) S IS 2T WG FHHCG! S|
(b) State Gauss's Law in electrostatics.
oo soe At ST 741 |
(¢) Explain the term 'Stopping Potential' and Threshold Frequecncy'.
ofoqad o7 W% SARRET F=ARE =[5! 21 4|
(d) Show that the total energy required to build up a current T in an
inductior of coefficient of inductrance 'L'is JLI*.
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(e) State Coulomb's law in electrostatics.
fFafofaqres Fera At ot |

(f) What is electric intensity ? Write STunit of it?.
agfes alieey &2 3| SI @< ferat |

(g) Define electric power. What is the SI unit of electric power?
s e e il | (AT et Sl ue

(h) A charge 'q'is moving with velocity 'v' in a uniform magnetic fielf'B'
_Is there any force experienced by the charge. If so, write expres-
sion of the force?
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(1) The radius of the innermost electron orbit of a hydrogen atom is 5.3
%10"'m . What is the radius of third Bohr orbit of hydrogen atom.
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(j) Explain how Lenz's law establishes the law of conservation of energy.
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(k) Find the peak current in the circuit given below.
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C=1mF
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L=200mH L R=1000Q
o

E =50 sign (100t) volt.
(1) Write any two postulates of Bohr's Teory.
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(m) An electron of mass 9.1 x 10" Kg and charge 1.6x10"°Cis mov-
ing at a speed of 3 x 10'm/s ina circular path in a magnetic field of
6x10-* T. Find the radius of circular path.
9.1 x10-3' Kg S Si% 1.6x107"°C SNl 38 e 3 oIk 3 %
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n) Work function of caesium is 2.14ev. Find its threshold frequency.
e dhgd ST e 2. 14ev. | T AT SRS fAefa &

3. Answer any seven from the following questions: 3x7=21
wer I Fient e Bed |
(a) What is adipole? Write down the expression for dipole moment.
. fare f6e faras aes erer i ferat)

(b) Deduce the relation of potential at a point inside the electrostatic
field.
s tapfes crat foote I <5 e Rreaa erem if Fefa
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(0) State Kirchoff's laws in current electricity.
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(d) Determine the equivalent resistance of the circuit given below.
ek foae Ol 43¢ AN ey (@ly [efa et
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() Define, para, dia and ferromagnetic substances with examples.
S, W W (TR [ 19 2l SWRAeR FRiEe ez & |

(f) What do you mean by Radioactive disintegration. Find out the
Radioactive Decay Law. :
coaia et 3fes f 3o 2 coufan faabaa 1@ @efm wa |

(g) Draw the block diagram of a generalise communication system.
ARG NS JIZR IS F; S |

(h) What is eddy current? State two application of eddy current.
afS 2412 1 2  fS 2z 2= 701 Socaifre fee

(1) Find the expression for the internal resistance of a cell.
(1T S@ECA4F 2T] AT fefT 41

4. Answer any three from the following questions- 5x3=15
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(a) Deduce Coulomb's law in electrostatics using Gauss's law.
SRR 7@ 7214 T4 (oo gaga @ g sar 7 )

(b) Find the expression of torque on current carrying rectangular loop
placed in uniform magnetic field.
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(c) Show that average power dissipated by a pure inductor and a pure
capacitor are zero, when they are connected to an AC voltage source.
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(d) Find the expression of magnetic field due to infinitely long straight
conductor carrying current using Biot-Savart Law.
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(e) Find the Q-value of the following nuclear reaction-

wete fral fafeara Q 2 sk fdfa %

14 4 17 2
N +He—— O + H
7 ) 8 1

14
{ Given (frat=iitz) } m (N )=14.00753 amu
7
4
m ( ?He) =4.00389 amu
17
m ( 80 )=17.00450 amu

1
m ( H)=1.00813 amu
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